6 3EFIEN & MG & EERERBER

— EEeEXE
(EfrhAd&EsT M) (EPmAEGEFHhNEER] EAESONT:)
~0OUR |; N AR B==1C10)==15 @ iy e o
= 4o~5o,§p§ D=Vt CRE *?Eﬁ%‘gﬁ‘g’j%ﬂ@ :
SOVARL yammps kR Q3. BB R0 AE) :
10~20m= S S E] R R
W 0~ 1085 -
et hEMEXE | 28m

82




2) #Hakmithis

//—

R

_ﬁ‘ T

S {EEX 1z

 ETEBATIE)  (EP SO R )

B 60l E § TEHEEIEAIOE SO R0
50~605 B DIIRRNSIEA30m L aE

| 40~502 1 OmLEE U TERTE

30~40

20~30sy YEERODmIRNRL

ol o 3020 Fi5E QM
o m o T OsER m#EMEXis | 283

BRESES00m

RIE) S E300m
(CEfTA15@/HELE
X(F. ZRBEHEEI R DR F)

83



3) fELFERhis

N&N %§§51337’> 597 ZaN) (\ v :
( A} = M =
\ \7 : ) ﬁ)
X gi <
FEXH KP
@ \\\SW ~.==/=‘? (
: \% qg : ¥/\f
5 »; N
v Q X
N\ AN SEFm W T A
N o g : = -
/k_//%)f - =Da?&£:h i = Beg = “0
XV = T B N\
D)8 A M o S S
/ L ¢ o%
/ @ﬁ : ZIA % o3
7 P RS
T
A= E $ s
o ¢ \\ S SN & \ XY
ﬂbﬁ‘/ L~ 3 WA ONN g
M / / / /(éj f : & -— \
/\ ﬂ ) ° m N — 5
| — [EE{RHE X 15
- (EPTHAEEETT) (B ST DE # ] (AHZZE] =
— ~6055 JRRNST 3058 A wE AR el
e 20~50 § OEVBEEL TR R 2 SEZ300m
50~30% | YERODTHIRR X (&, RiBFEEI R0/ ()
10~205% T Q N
s 0~10:% .5
=t ’ b X1 28 (
T 7777 WDl T AN DRNNA /=0 NGRS (0

84




4) REEHhis

, 4/ WUMW%WWW\WWW%/M)W/WMAASQ) : SN 02 %%rfé)
e o Mf&ﬁ%«j@w o
TNEpie e £4K
Nl = e Rl
R E Bin
, =S o o — e
0 2 o
Lﬂ wﬁmi
ey il g
'S SHH
A\ ._-DMI
Bl
H 9
=4
< WU
#roy B
WehRx B &
S Sph KF
mw_mﬁb m
Ukms & Y
MokS =
M{ERS 9
b5 o
| | JeemsmEs |
#) B MEMEMEEE
\ <0000 ofEyE -
7 PO ::DI/\65432
# oooooo
OnN<TFMN
£
=i

85




